(2024) KATAWRUIBRASRS 2 =P T =R b—T X FFRREES
BFFiE

& BAREIE O BE Q(RBERI2LDIGFE) 280D EHESKOEH LOIEAIL S

B —# AYW/LTS

1R B 73vI-ZH)ITA

Q(RBERHIZEULNIBGE)RBY —LE  DIETRE
204 7A _
K& iz 1 2 3 4 i | Bk [ =|Ea s — L | Ik
1 [3REE $R30] mmsmmias O 8 -4 O8-5 O 8 -1 3[ ofro0u] 24| 10]70s0| 14
2 | EB K wF7=257TNY |@ 4 - 8 O8-0 O 9 -8 ] 2| 1[67%] 21| 16]se| 241
3 |HB BAX &F7-2757|@ 5 -8 |@0-38 ® 8 -9 (5] 0] 3] 0%| 13| 25|ss21s]afis
4 |ES B4 BLi-an-7v[(@ 1 - 8 @38 -9 09 -28 5 1| 2[33%] 18] 25|+1.864| 3451
70+98
K& iz 1 2 3 4 i | Bk || e — L | Ik
1 [/MVE & SYST=R477 O8-0 O8-0 O 8 -1 3| of1o0u] 24] 1]osox| 14z
2 |FIL EHE TTC ® 0 -38 ®3-38 O 8 -1 1] 2(33%] 11| 17]3020%) 3431
3 [EAXBXESM HA71T-A |® 0 - 8 O8-3 O8-2 2| 1|67%| 16| 13[ss1m) 24
4 |#F {65 TTC ®1-38 (@e1-8 [®@2-38 0| 3] ou] 4| 24]2safs
20+9C
K& iz 1 2 3 4 i | Bk || Ena — L | Ik
1 [FRBE BE  ravvrEEZATC O 8 -2 O 8 -1 O8-5 3| olioo%| 24| 8|7504| 14k
2 |FPA B EiET-57|e 2 - 8 O 8 -2 ® 6 - 8 1| 2|33%| 16| 18]+0ss| 341
3 |H#k =&/ GENTA ®1-38 ®2-38 ® 4-38 0| 3| 0% 7| 24|2se|4fis
4 |#ERE —E SOL Tennis Co.[®@ 5 — 8 O 8 -6 O8-4 2| 1[67%] 21| 18]sssss|24i
0590
K& il 1 2 3 4 i | Bk [ =|Ea s — L | Ik
1 |K35 BE ra9or@EzaTC O 8 -4 O 8 -3 ® 6 - 8 2 1167%| 22| 15]s94¢4| 2452
2 |[EHR K& YLA717-2 |®@ 4 - 8 O9-8 G)|)@ 6 -8 1| 2|33%| 19| 24|34
3B B4 wEi-a7TNY (@ 3 - 8 ® 38 -9 (5 ® 2 -8 o| 3| o%| 13| 252 4fst
4 |{FIF IKE 1iy2m2EC|O 8 -6 |O8 -6 |08 -2 3| 0]100%| 24| 14]sc1e] 141
704 9E
K& i 1 2 3 4 i | Bk || Ena s — L | Ik
1 |&H $1E 7H01-AMTC O 8 -2 O8-0 O 9 - 8 3] 3| ofroo| 25[ 10]71.43| 14z
2 |08 1% & ssviamiTAl@ 2 - 8 ®5-38 ® 1 -38 of 3] 0%] 8| 24|x0|4fi
3 [f&1% B2 B vivamzaTc|@ 0 - 8 O8-5 ® 1 -38 1] 2|33%] 9| 21000341
4 |#EE TR GEN TA ® 38 -9 (308 -1 O 8 - 1 2| 1[67%] 24| 11]esn|24i
200+ 7 F _
K& e 1 2 3 4 i | Bk [ = Ena — L | Ik
1 [FaE 1&E HARTCHIF O8-0wolO8-0 [O08-3 3| 0]to0%| 24| 3[sssoe] 141
2 [BEEE Bls=ar—5v(@ 0 - 8 wD ®@ 0 - 8 wo|le 0 - 8 wp| ol 3] oul ol 24(co0%
3 [k A Fevemnazs|@ 0 - 8 O 8-0wo ® 4-38 1| 2(33%| 12| 16]42ses| 3L
4 |{kfE B SOL Temnis Co.|@®@ 3 - 8 O 8-0wolO 8 -4 2| 1]67%| 19| 121208241
70496
K& il 1 3 4 i | Bk [ =| e — L | Ik
1 [#£8 X8 YLF/T2R O 8 -1 O 8 -2 O 8 -3 3[ ofroou] 24| 6]e0001fiL
2 |#9% B n{YASCTC |@ 1 - 8 09-7 |[(@4-38 1] 2[33%| 14| 23[s7ea| 4431
3[BT Bk £r7=ar-7v|@ 2 - 8 ®7-9 O8-4 1| 2[33%]| 17| 21|sre|24sz
4 [¥ATT HESE SYST=A957|@ 3 - 8 O 8 -4 ® 4 -38 1] 2{33%] 15| 20]42ses| 3431
20+ 7H _ _
K4 i 1 2 3 4 A EE B [
1 |BHF Edk W77 O 8 -4 O 8 -6 O0O8-0 3| 0f100%] 24| 10(70s04|14E
2 [ gl 7Hoa-zkTC|@ 4 - 8 ® 5 -8 O8-5 1] 2|33%| 17| 21[+7|341
3|2 fiE HYAIMT-A |®@ 6 - 8 O8-5 O8-5 2| 1]67%| 22| 18[ss00s] 24z
4 |'E5F BEZE #1977 ©0-8 [(@5-8 |@5-38 0| 3| 0% 10[ 24|»4144fis
HIAFAY 2024F9F 23R (A -H) BF
1 BB AE 5452 D2 BERKRGEETZIRYF7)~ELY
3 | =2 Badh BulF=2a3—F+|No Show
4 [EBHFEZT W57 H4 LIS HEV(SYS) ALY EAY
5
6




